Qal
=

Alg:2018H 07 21

o

=)

L o
. : uo I g )
' ! <0 1 = L
P = R ) g5 :
dlo ro .“_m_._u
. < . o T 4
LN ol_n-_ 5 X © .
= T & A
RO : o % K “
m _ B : o T Kk
oF W W ~ ol )
i < a E o =
Il o o : o [ |_.|||_ =
i A 2 o % |
= N = oz o i
| m =R =z
S = .”_m_._u = IAS
"1 A, — I ol or *.Aﬂ
Pl DI
Lo L T 15
BB | ) )
™ Qg g "o o= o)
oo wiol — ol ol - mﬁ
- . = B O™ O «
K [ K = ;I
I e : S BT o ol
e : EBEIn LS RlG ™| o
m m Jo- ST o1 -y .
; : <+ o T o R X0
; : mi~l ke 3 = K
m m m SN joll =3 o_um. g -
R ” NEECHE ol - =
Cer SIESTI Ko o~ I 0
Suo oL 8 oW W =
DR : IR of <F Mo =
A T & kX0
® 8 | & A ul
. | T = 25
= R @ omoE R
L300 ! O 5 S X0 o To N
CH ” - .= o -
W i Hopo- o i
, T ®F liHo = K T ™ o o
HO %0 ofu w2 0 ol OfF T
4:__. T Xl 0l S B ™ i o H:
- R or Ar o oF e g o L
] N ey B
& = q% Jo To0 Hﬂ X0 x_ﬂ ¥R AT Ko
Hom K U B0 = b N T TS -
50 7 RS 8o bl e 0 gr DR | o
3 M Z =} =0 T Ou ® T 3
= = I R = <0 <+ 3
= 70 gy T K o e S wE 5
: ! o ur <k i N ST on S O H_H_
A i o 23
; : = od — o] 4 © o3 o o o
: : .M. H_._._ K- ] _._.__._ © O H il
L T = 0 Ko ol ol & <+ =g
P i £ . 80 80 2 Fan
N = T = = % 5l W
= S £ WM H ﬁ Mé$ U
w5 & & ol L - 5 O RIaL
= N o OF " /_.*..mql/L E.\m_ﬂm_. @W._W._
¥ g = iz Ry RAT #r S
PO — 2w o = <ol - or_ ol |
; PR =r ol n_xu_N_ o o K S o ol A.._.. ® BLoE o1
B = % = = 7T oF Mol = T2 S ot
0 ay o D R gl B0 B 1l i 55
or TH Ty ! <K ~op K . G
- e M s® - = O om < N 7R
- Al & G0 . o IR S R SR ey ol Wy
El 0 W Om e ® KR Do = 523
o GUR B mi o grer oF mE N o M W o 3
g 5 B oS @ g B ee ®aim ’
= Mm .m. from KO pu< KO puzs R mHom <+
e & E G

= AFLICH

=
=

ol ufet #EselS

=
S

=Y




488
15

14

13

12

o
11

o
10

-

o T T
.A_l H H H .....M......,,r.....,",. .....

M FD X FD
KT or  Wri ok ok

| |

: : : b 00
H | od (a0 Ro R0 S| OW |0 R0 RO L0 | OH

=04
=
=04

S

HIHAE O]

==




A B[ = 0|3
IOOl 100
80 80
60
E B FEXHOIS 40 At olsy
D c HolHo|sf of%|71d
— =os®  — xdm@ HIAYR — EoSE  — XYmE HI3YR
ol HHE SE (NEUZ|H=E2 #SEH EIES SH (NEEZ|H=82
A s 12 12 uT | BlEEols 24 6 69 . 9T
] B 18 15 15 134 || ArEHOIs % 9 i 98 | 152 |
I S 249 9 A oleiiE M4 3T T2
,,,,,,,,,,,,,,,,,,,,,,,, o2 8 7T w2 p #eHod 12 9 9 85
E 20 0 0 0 | 66 FEX{0J4 27 16 169 | 169
02. 23
2xsZ
100} ]
80
80
E )\ B 60
Il - /‘\
207 A& — 407 ot o
\.
D C
Fg
— gols®  — Xomg Hagz — gols®  — xoyg Hagg
tho| = HE | SF (XHEZ | =gz dsdy HE | SX |(XdgZR dHIYD
A 6 4 4 54 || 2xsz 24 12 12 14
ol
_____________________ =
At 21 18 18 15

22X NS MSH EE eh=uSYIHE 0| A2, 01E REt 083t B2 MARY Soil a2t YHMSs & - AFLICH



O
g
10
e

80
83

=0i 38
35
0
67
71

£t

38

60
0 10 20 30 40 50 60 70 80 90 100
X|4(%) 0l5H (%) HZ(%) 2 M(%) &%)

3% LO| =9} H| DS}0f K13 X| A=A, O[3}=B, H8=C,

I'-I I
OH
oo
1l
m
2
P
ol
L
r
fim)

01.=0

ZFoja} st R4 YR E Odlist ASLt, 0| &3t 2XHE ‘H’e"ﬁfE %—1 | OH< OIS ELIC CHE Atgfatel 4= 280 2Pt st#o| Jiid S U ofslst
Lt 280l g&83t= 50| DISELICL 22 A1 F2 WES olse 4 oLt Yfel #E2S FEsH= 50| iR FFLICH XHAo| HiE XA 2 28310 =
O| LHES HITN O = BMSILE A & AHE S SRS =X s 20| ’“9‘}% SHO| 02 £ EPILICH 2ol BH= 03[t 28 B S &&= 520| 0f<

HEPILICE 2o RES D25t Solie 4= AL H| TSI HE5H= S20| 1R LT

02. %

Kbt <= 1007kX| 2 2= 7H'H 2t S 4], ol chih K| Alaf JHE, ALk 212|7F M =SHAH| Hd =0 AELICE 0| S 0|8t ZH| 32 HM2FS M= A0l 7kS3HLt 2H| ¢
29| npE It Al A S530| ChA 2EBIL|CH o2 71X 2 ko] E-4 1t X| 4], 7H'-41f e[S ofslizte A2Lt 0| S 0|85t ZHIE sHEdt= %'ﬂ% Ca 052ty
Ct. AlA|ofl LEEFEE 12, 60T 01| Chek X[ Alat 71 O|SHE HIEIC = ZH|0| F01E YEE siAletat 0|5 &4l £ T YEot ZH| Z29| &= A E olslste] 3
2= 50| CiA RFpILICE MAX Q2 51K X| A1t 7|52 o= Fe HEE(0f s HYLICH JHHt 2(o] 4= Hd KoM ZH| 2o 23t 3&'2
Hot oMo 2 25t CHpt 24| of 2 WHE Ho|X o= Aot 8| Zdt= S5240| CiA O|ZgfLICH AN ALT'_QI HEO| Ot L2 HO|22 HOo|: =
=H| S Z0l| 2FZke| o2 Z0| AS N2 Z Y ELICE ZH| HES 24, TSI XMoo= 3| Hdt= 5HS 7|21 st 2H|of oSt FHS W=CtH *’SOI

7|cHELICt.

22 F 4+ B

2 2 x0| NAHE HBH £t H2KUIHIE] 21001, 018 L& 018t AP KA Sol uf2t wHe



20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

10

iy
oF
<+
&0
o
]

2of+42t

(108)

+ gLtk

SN



=1}
of

S i

K&t

7-

to] A7

1o
od
oIl

ol
0fo

K0

}

2

H33l =217] figolL
Lct.

23

2 2l Aol Hlo|E]

=l
=
a

2 870 =30
2
=2

|
-
=

ol Flgt,
A
X

S|

|
Sl
=

HA|

y¥EREE
2LiLk 20|

&Lt

ol2 & A O
Hols = 4 QL

Off o2t A

=
S

< x5



